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������� �������� � ���!��� "�����
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�$�
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� ������ �
�$
��� SIMION. ���
������ ������"�%
 
�
��

����� ��� � ������ �� 
���

��
�����
 

������
 ��!�%
�
 �� ���
���
� �&��, 
��%� �
 ������ � '�!�
���
�%� �� ������
 ����

 ��������� �� (����� � )
����. 
���������� ��� (�����
�%��
 ���!��
 �����%
�
$ ���������
� �  
$��� 
�

$�%��� 

����$� 
. *���+
 %
 
�����
��� ��$������ ��������"�%
 ������$ �

+�%�. 

 
1. �,-� 
.�����
�#�� �$�
������ ���������
 (.-�) %
 %
��� �� �

+�%� �� ������� 

��
�
��
�����/ #
���"� � �����. 0
����� ����� �
(�
������/ 
�
��
������#��/ 
���������
� � ������  
$��
 �����
��"�%
 #��
 ��
 �����
 "�����
�#�
 
�
��
��
. 
���
+� ���/ 
�
��
��� ��������	� �
 ���� ���
�
�#�� ��	
 ��%
 ��� (�����
�%��
 
���!��
. ,���� ���!��� .-� %
 �� ��  
$��� "�����
�#�� ���
�
�%� ���$����� 
(�����
� 
 %��� �� ���

$
�"�%�� �$�� �� 360 [°] � 
���� ��
�����% �� ��� "�����
�. 
����1
, ��� ����	���� je �$
���#
�� ����� �����
��"�%��. 0�

� ��$�, .-� ���
 
!��� �����
����� �� �
�/���� %��
 �� 

������� �
����� 
������� ������$ �$�� �
� 
#
�� �
 ������ �� ���#�%�
 �
$
���"�%
 
����$� �. 

 
2. *2-���� 
3� ���"� 1. ���� %
 �/
�� "�����
�#��$ �$�
������$ ���������
�. 

3�
�
��
����� #
���"� �
 �

�
 ���!���� �

 ������ � �!���� ���
+� "������
� � 
����� ������� �� ���$ �
����
�. ���
+� "�����
�#��/ 
�
��
��� 
�����
 ���
�"�%��� 
∆U �� 
�
��
�� (��� %��) �
��%
 
���%���� 
�
��
������#�� ����. �
1��� 
� %
���#��� 
�

�� � ��!�%� �
 ��
�� �� 
����%� 
 L0 ���
+� �

��
�� � ����: 

])
2
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( K0 = ��������	�
��
��
�x = (2K0sin2θ0)
1/2  ) 

0
� ����+
 � %
 ���
��

� 
(
��� �
����
��$ ��
�
��
��� � � 
(
��� �
�%
��. 
��%
���#��� 
� �
��$ ������ %
���#��
 �� ����� ������ �
 ����� �� 

(�����
� 
 �
��$ 

��. 3��

�#��� 

1��� 
� ������%
 �
 �� ���% ����� ���
 !��� 
���� 
� �� !��� ��%� �$�� ��ϑ������°�
��
� #
�� %
���% �

������ K0 ��$���
�%� ��� 
����� �$�� [1]. �
������#���� �
 ������
 ���� �� �$�� θ0 = 43,2 [°] ���� %
 ���� 
� 
�����  �� (�����
� 
 �
�$�$ 

�� 1�� %
 
������
���� ������ �� �
�$� ����� 

����%� � L �� �$�� θ0 !��
 ����. -��% 

������ ��!�%
� %
 ��� �

���������� �� �
 � 
�

��
� � ��� �����
 �� ��� "�����
�. � 
��� ������ (Risley) [2] �������� %
 �� 
(�����
� 
 �
�$�$ 

�� ���
 !��� �����$���� �� �
���� !
�% �$���� θ0 ��%��� 
��$���
� �
�� ������ ��
����� 
����%� 
 �

��
�� � ���� �� ������$ � �������$ 
����
�. )� ��������
 �����
 � �� θ0<15 [°] 
�

$�%��o 
����$� 
 ���������
� %
 
�
�!����� [3]:  ∆E/E = 0,92(∆s1/L0).�
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���%� 
� ��� .-� �� 

� ��!�%� �
 �����
��� "�����
�#�� �$�
������ 
���������
 (�.-�). -������  
$��� �

����� %
 �� 1�� � �
���#��% �

� 
������1
 
�����
��%� ����
 �
���
������� �������%����� �
�"��� ��%� !���%� �������	
�� 
�

� �� ����
�� �� ����
�1 
� "�����
�. *��
 �
 ��!�	1��� 
�

$�%��� 
����$� 
. 
0�

� ��$� �.-� ��� ���� ���
�
�� ����

��%� (∆Z/Z) ��� � .-� �
� ����� �� 
� 
�

#���� ���	�1 
$ "�����
�. ���� �.-� %
 ��� 
�� �
������ ���. 

 
3. 0-�*-�24� ��25�� 
� '�!�
���
�%� �� ������
 ����

 ��������� �� (����� (�6) � )
����, � ������ 

���
���

 �&��, �� 
�

$�%��� ������� ��
�
��
�����/ #
���"� ��
���� �
 ��
��� 
�����
��� "�����
�#�� �$�
������ ���������
. �

+�% %
 
����� ��!
�� � ��
����"�, 
� �����
����� %
 � �6 [3], [4]. 3� ���"� 2. �
������� %
 �/
�� ���

#��$ �

�
�� ���$ 
���������
�. 

       ����� 1.     ����� 2. 
 
��
���

����#�� ��
��
�
� ���������
� ��:�ϑ0 =  45 [°], K0 = 1,3230, R1 = 6 

[mm], R2 = 16 [mm], ∆α = 10 [°], d = 2 [mm], L0 = 74,28 [mm]. �� ���� �

�������� 
�
�
�%��� �
 ��!�%
: ∆U = 0,74⋅E0 ; ∆E/E  ≅ 0,03. 

� �!��
�� �� �
 
��� � �.-�, ��������� 

1
 
 %
 �� �
�� ��� !��
 �� ��� 
"�����
� ���� !� �
 �� ��$���
�%��� ��#�� �

������ �� ������� ����
. 3� ������ 
���
�
��/ �
�
�%���/ �
�
�#��� %���� %
 �� �� ������� �����
��"�%���� ��
��
�
��� 
���������
 �
 ���
 �� �����$�
 (�����
� 
 �
�$�$ 

��. �
+����, (�����
� 
 �
��$ 


�� !� �

!��� �� �����%�. 0
� ���
, �
�
�%��� ��!�%
�� �
��� (�����
� � �� ������ 
�$�� ����� �� 45 [°] �
 ������� ���$� �� �
��
 (�����
� � �� ��������� �$�� ��      
42,3 [°]. 

 
4. ��� �� 0�-&���-� SIMION 
0
�
�#��� �
������� � ���� 
��� ��!�%
�� �� �� ����� ���

"�%����$ 

�
�$
��� SIMION ver. 6.0 [5]. 3� ��#
��� 
��� �
 �"
��%� ��#�
 ��%
 �
�����%� 

�
��
�����, � ����� �
�$
�� ���
1� �
�
�#�� 
�
��
�#��$ ��	� � ���� ������� 
��#����. �
�% ��#��� ��

+�%
 

����"�%� �
����
� � �$
���#
� %
 �
��
�%�� 
�#���
� 
� ����� �
�$
����. 0
�
�#�� ��	� �
1� �
 ���

�#��� 

1��� 
� '�������
 
(Laplace) %
���#��
 �
����� 

�����"�%�.  

-�

+
�� �
�
�#��� �� "�����
�#�� �$�
������ ���������
 �� �
�$
���  
SIMION �� �
� 
�+
�� [1]. � ��1
� 
��� %
 �� �
�� ��� ��
�1�
�� ���
���� 
 � �
� 
���
���%
 ���� !� �
 ��!��� 1�� �

��%� ����%� �����%
�
$ ���������
� � �����$�� 


����%� ������ �

�� � %��� �  
��. ���
� ��%� ��� ���
����� �������� %
 �� 
���������
� �.-� ��%� �
 ��
���� �� ���
���
� �&��. .�	 
��� %
 !�� �

 ��
$� 
�������� 
 ���!��� �����%
�
$ �
�
���
� � ��$������ ��������"�%
 �����$ �

+�%�. 
)!�$ �$
���#
�
 

����"�%
 �
���� ����
� � ����
�1 
� "�����
� 

����$ �
�
���
� 
���
 
�� �� ����
��� ����
����$ �

�
��. �
����"�%� � ��%�% ��� 
����� %
 1 [grid] = 1 
[mm]. �
� �!��
� 1�� %
 �� �
���#�� $
�!� ����� 

�������, ��� ���$����� ��!
� 
������������ �������. 3�%���, ���
������ ���
�� �
��

����� ��� ��

+
 
� ��  

���%
 ��!�%
��� 
���

��
������� 

���������. )� ���

!
 ���$ 
��� ���
��	
�� %
 
� �
������ �
�$
��� � �
�$
������ %
���� SIMION. 
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5. �2)�'*�*� 
3� ���"� 3. %
 �
������� ��!�%
�� ��������� 
�����
 ������ �� "�����
��� �� 


�

$�%
 %��� ��%� �
����
 �
�� �
�
���
. )� ���� 
�

$�%� %���, ��%� ������ �� (����
 
��#�
 �� ��� "�����
� ��� �$��� �� 45 [°], ����������� ��� �
 ��� ∆U � ���������� 
�� �� %�� �
����� �
�� �.-�. 3� $
�(��� �� �
������� ��%�
�� � ��%�� � ����� �
� 
���
 %
 �
�������%� ��$���. '��
�
�� (�� %
 �
�+
� ��  �/��� �
���
��#�� �

����. 
��!�%
�� �

����� �� ��
(�"�%
�� �
��"� (∆U/E) = 0,7655 �
��� �
 ��!
� ����
 �� 

���

��
������ ��!�%
��� �
��#���� 0,76 [3]. *
�
�%��� �

����� %
 0,74. 

3� ���"� 4. �� ���
 �
��
 (�����
� � ��!�%
�
 ������
� 
� ���� � %��� � 
���������
�. L %
 
����%� 
 ��� ��
 "�����
� �� �

��
�� (��� ����
� %���) �� ��#�
 � 
��%�% %�� �
�� ��� �

�
"� ��� "�����
� �� ������ �$�� �� 45 [°]. Z %
 �� ���� 
����%� 
 
�� �$�� ϑ = (α+45) [°].  

     ����� 3.       ����� 4. 
)� �����%
�� $
��
�
�%� ����
�� �
�
�%��� !� �

!��� �� �����%� (���� � 

!������ ��
 �����
 �
��$ ����
�. �
+����, �� ����
 4. (�
��� ��%�% ��$���
� 
����%� 
 
L0 = 37 [mm]) ���� �
 �� �
 �� �
 �
1��� � �� �
��� (�����
� � �
��� ������� �� 
��
����$ ���#�%�. 

���#�� 

������ %
 ��!�� ��
������� [1]. �����$ ������$ �
����#��$ ������� � 
!� ��$�� !��� ���
��
��� 
 
(
��� �
�%
�� � �
�
�%���� �
�
�#����� ��%� �
 %��	�%� 
�� ����
��� �� ����
�1 
� "�����
�. 3���
, �
� �
�
�#��� ���� 
 %��� ����
� �
 �� 
�
 �� ������� ���!���� �

�
 �� ������ � 
�
��
�#�� ��	
. � ��1�% ������"�%� �
 
���� �� � !������ ����
� ������ �� �
��
�
 ���(�$�
�"�%
 ��	�. -�� !� ��$�� �� 
����
�  (�����
�%��
 
(
��
 ��%� ����� �����
 �� �
��
�
 ���� 
 %���. 

                                                                                        

                                                                                     ����� 5. � ($�

), � (���
) 
 
��������	� �
 �� �
 �� ���
�� 
� �$�� (���� ���

� �� ��� "�����
�. ��!
� 

(�����
� 
 �
 ������
 �
� �
� �$������ ��� 50 [°]. 6���� �
 ����+
 ���

� �� 

-�

+
�� (�����
� 
 ����� �
 ���� 
%��	� � �� � �
����
� ���
+� "�����
�#��/ 

�
��
���, 1�� �
 ���
 ���
�� �� ���"� 5. 
�. -�� ��
���� ��%
 ��������� 

1
 
 %

 
����� ��� �
 ���
 �� �
 �

�
�
 �� �

�� 
(�������) ����
 $�
 �
 ������ �
�
���
 %���. 

� ����
� �����%
�
 �����
��"�%
,        
�
����� ��� �
��� (�����
� � � 
���������� �� ������$ �$�� ����� � �
��
�
 
�
��� ����
� ��� �
��"� ����� %���. �$���� 
���

$
�"�%� ����� %
 �
� ���
 !��� �� � 
�� 10 [°]. 
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��
����% ��#�� � �� ���	��� 
� ����
� �� ��
 ��� �
��"� ����� ����� (��� ��
 
������$ ����
�). -��% ��
��
��
 !� � �
��"��� ��$�� �� �
 �
 � ���
1��� 
� ���� 
������$ ��#���. 
 ���������� ��� � ��$������ ��������"�%
 �����
��"�%
 ������$ ���� 
�
�
���
�. ��������	� �
 �� ��� 
 
 
����%� � ���
+� ����
�, �
� �
�
��
 
��� 
�

�������� ������/ ��
��
��
� ( ϑ0, R1, R2, d, ∆s), ��%
 !�	
 (�����
� 
. 0
� ���
 �
, 
��
����, �
 � �

����� ����!
�"���
 ��������
 (∆U/E). 3� ���"� 4. ���
 �� �
��
 
(�����
� �  �
�
���
� �� 
���
 �

������ 
����%� � ���
+� ������$ � �

� 
$ ����
� 
��� ��
 ����
��. *���+
, �� ���"� 5. � �
������� %
 ������"�%� �

�� � ����� %��� 
�
�� ��
��
�� �
�
���
 �� ���#�% L = 31 [mm]. ���� �
 ��!
� (�����
� �����
 �
��$ 
����
� �� %
 � �
�$� ��� �
�!����� �� ��� "�����
�. ��� �� ���� �����
�� �
�
�#��� 
���
�
�� �� �� ���������� 
�

$�%� %��� E0 = 7 [eV].  

3� �
�%� �
 !��� ���
�
�� 

������� �������� � 
�

$�%���$ 
����$� �. 
2�

$�%� %��� �
 ��� %
 � ���

���� 0,5 [eV] ��� ������
 
�

$�%
 �� 7 [eV] � 5 [eV]. )� 
����� 
�

$�%� �
��
� %
 ��

+
� !
�% %��� � ��

+���� !
�% ���/ ��%� �
�+� �
�� 
���������
. � �
��� ���#�%� ��!�#
�� %��� �

�� ��� �� ���
 ��#�
 �� 
����#���� 
������� �$������. � �
�$�� ���#�%� �
 �� %
 ������% ����
� ��� ��
 "�����
�. � 
�

�
� ���#�%� �
 �� %
 ������% ����
� ��� �
��"� ������$ ����
�. 3� ������ ��
 
������"�%
 ���
 �
 
�����
��� ���"�% �$���
 ���

$
�"�%
 �����, ������� ����#�
 
�
��#��
 �

��
�� �� 
�

$�%��� 
����$� 
 ���������
�. 3� ���"� 6. �
������� �� 
��!�%
�� 

������� �� ������� 
�

$�%� �� 7 [eV]. ( � – �
 � �
 �$�� θ0, B – �
 � �
 
�
��� ����
� ��� Z ��
, C – �
 � �
 �
��� ����
� ��� �
��"� ������$ ����
�). 
��!�%
�� %
: (∆2/20) ≅ 0,05. 2���

��
������ �

����� %
 �
1�� �� � �� 0,04 [3]. 

                                                                     ����� 6. 
                
)��7���� 
3� ������ �
�+
��/ ������"�%� �

�� � %��� � �.-� ���
�
 �
 ���	�#�� ��, 

��%�

������%
 �!�$ 
(
��� �
�%
��, ��������� �����
��"�%� ���$ �
�
���
� ������� �� 
������1 �/ �
�
�%���/ �
�
�#���. 0
� �����
��"�%� ���������
� ���

!�� %
 
�!
����� ��� � �� ��� #� 
��"� ������� �
 ��/�
�� ��!
� (�����
� 
 � �

"���� 
��

+��� 
 ���� �� ������. 
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